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? hristmas Integers

The negative whole numbers, zero, and
the natural numbers form the set of all
integers,
w.,-3,-2,-1,0,1,2,3, ...

Zero is neither positive nor negative. We can show these numbers on a number line:

-5 —4 -3 -1 -1 0 1 2 3 1 5

No Sign Vleans Positive

If a number has no sign it usually means that it is a positive number.

Example: 5 is really +5

Absolute Value

Absolute value describes the distance of a number on the number line from 0 without
considering which direction from zero the number lies. The absolute value of a number is
never negative.

Examples
The absolute value of 5is 5.

distance from 0: 5 units

Y s Bt PO

54 73271001 2 3 4 5

The absolute value of -5 is 5.
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distance from 0: 5 units

T T 1T 11 |

|
54372710 1 2

|11,
3 4 5

The absolute value of 0 is 0. (Remember that 0 is neither negative nor positive).

Adding and subtracting integers

To add integers having the same sign, keep the same sign and add the absolute value of each
number.

To add integers with different signs, keep the sign of the number with the largest absolute
value and subtract the smallest absolute value from the largest.

Subtract an integer by adding it’s opposite.

Multiplying and dividing integers

To multiply or divide integers have in mind the following rules

A

+x - +x+
= X4 - X = +
++- +++
- ++ | m ==
Exponents
exponent The exponent of a number says how many times to use the number in a
(f’;;‘;‘f,i;;rJ 2 multiplication.
8 In 82 the "2" says to use 8 twice in a multiplication,
base

s082=8x8=64

In words: 82 could be called "8 to the power 2" or "8 to the second power", or simply "8
squared"

Exponents are also called Powers or Indices.
What if the Exponent is 1, or 0?
If the exponent is 1, then you just have the number itself (example 91 = 9)

If the exponent is 0, then you get 1 (example 9° = 1)

But what about 0°? It could be either 1 or 0, and so people say it is "indeterminate".
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1. Do the operations:

a.

-17-(-16) =

-2x(-10)-2 =
S(2+7-5)x(-3+4)x(-2) =
- (-6+8)+(-5-7+12) =

2x(-6+2+4)-2x(-5%x3) =

-14+7+(-6+7)x(-1)-(19-25+6) =

9+3x(12+4)-(5-3)x2=
30+3+(10%x3)x(-2)-18+2x2=
-14 +(-20) =

-2 % (-20) =

-5-(-80) =

-200 - (-90) =

c(3)+(-3)=

(7) +(-5) =
(4)- (3) =

(8) - (+2) =

3x(-2)x2-(-5) - (+5) =

(-1) x (+80) x (-2)+(-3) =
(-10) x (-15) x 0 - 10 + (-20) =

(+7) x (+9) x (-1) -5 =
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LIKE EVERYONE WILL BE GETTING WHAT THEY
IS YEAR. SOMEBODY POSTED MY CREDIT CARD
NUMBER ON THE INTERNET

“IT LOOKS
VANT TH:

2. A birdwatcher on a cliff saw an eagle 10 meters below him. Earlier, he had spotted
the eagle 20 meters below him. Which integer represents the eagle's change in
altitude?

3. On anumber line, Nina drew a dot at 400. Then, she drew another dot on a number
that was 300 units smaller. What number was the new dot on?

4. From 300 feet above sea level, Christina took off in her helicopter and ascended 500
feet. Which integer represents Christina's elevation now?

5. During the second half of a trivia game, Sasha scored 700 points in the news round
and -300 points in the philosophy round. What was her score for the second half of
the trivia game?

6. It was a very freaky weather day. The temperature started out at 9°C in the morning
and went to -13°C at noon. It stayed at that temperature for six hours and then rose
7°C. How far below the freezing point (0°C) was the temperature at 6 p.m.?

7. Do the operations :

a. (64-22)+(8-2)
(34-2)+2+22
(9-3)2+(18+3)
(34-22) +(4-2)
23=
(-2)*=
324+23=
7'=

OK NICE AND
EASY NOW...
GIMME YOUR NOSE

AND DON'T DO
ANYTHING STUPID.

R
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8. Do the operations :

a.

28+4+2x8+2—37=
15+7x2-11+35=
75+5x9-9=
81+3-12x3+36+4=
26+2+15x4=
42+8-6x11+2=
9+4%x30+6+5x%x8=
18%x2+4+52=
58-(16+4)=

(18 +12)-27+3=

40+ (4%x2)-7=
50+2—-(8x9)=
90+(2x5)+13-34=
5x(7+11)-56+(2x4)=
28+ (4+10)x(4+24)+2=
(64+8)+7x8+(40-138)=
125+ (17 -12)* =

96+ 23— (4x15) =

33+ (11x7)-43=
9x(72+8)+2x3%=
2x(63-55)*+35+7=
[(4x5)+9-5]+6=
3x5+[(18+6)—16]+1=

4+[(18+13)x3]+3
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9. Which equation(s) is(are) true?

10.

a.

==-(%

15 15
13 (—13)
81 -81

==-)

Do the following operations:

1 1
_+_=
4 8
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h. —% = (—E) =

11. With which number would you replace [_] to make the following
statement true?

L]

21>
5 5

a. 14
b. 9
c. 12

12. Robin has 3% chocolates. She wants to share the

chocolates with her friends. She gives to as many of her
friends as possible Z of a chocolate. She keeps the rest for

herself.
a. To how many friends can he give % of a chocolate? Show

your work and write your answer in a complete sentence.
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b. What fraction of the chocolate will Robin keep for
herself? Show your work and write your answer in a
complete sentence.

13. Evaluate the following expressions:

1
a 3x-=
4
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14. Do the following operations:

a 2+—

b. 5x=-=

15, Turn the following mixed numbers into improper

fractions:

1
a. 2-=
2
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b. 22 =
3

4
c. 1—=
10

17. Find the reciprocal of each number
a c. !

b. d. 2
8

EISB Teachers: Apostolon Paraskevi / Giouroukes Viassis



X'&= Christmas Break Revision Booklet 12| Page/MYP2
11
= 1=
= 9
1
f. 2z h. 11

18. Choose (circle) the best option that represents the

number:

a. 37%

37

100

ii. 0.037

37
10
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a. Does the expression (-6) + (-10) result in a positive or negative integer?
b. Does the expression (-4)-(16) result in a positive or negative integer?
c. Does the expression -(-4)-(-16)+(-16) result in a positive or negative integer?
d. Does the expression (3)+(-5)-(-3) x2 result in a positive or negative integer?
e. Does the expression (-2)x(+3) x(-1)x(-5) result in positive or negative integer?
f.  Does the expression -1x(-5)x(-2)x0x(+5) result in positive or negative integer?

20. Fill in the blanks using the given operators in each problem

s N
n (14__8__ 2=11 2 162 5 6=1

© © O ONO,

\ J
e N N
3)) 95 _ 11__7=122 4 (72__2)__6=30

ONONO, © O

L / . /
e N7 ™
5 33__ 5%  4=133 6) (74__16)_21__3=12

® © ® © O

7y 513 9 47 =101 8 6 7 16=104

ONONGC) ONO,
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